


This exercise is meant to educate participants on the “theory of constraints” (toc). The toc is 

the backbone of innergy’s architecture. Toc is a philosophical solution to the problems in 

our industry.
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Throughput

• Is the rate at which the system generates money 
through sales, not production. If you produce 
something that you don’t sell it’s not throughput.

Operational Expenses

• Is all the money the system spends to turn 
Inventory into throughput.

Inventory

• Is all the money that the system has invested in 
purchasing things which it intends to sell.
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